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Final Exain Review, Unit 1

Name:

1. The measures of two angles of a wiangle are 70
and 55, This wriangle is
A, & right triangle
B. = scalene triangle
C. an obtuss triangle

D. an izosceles triangle

2. Iln AQRS, mlQ =z, miR =8 ~40, and
miS =2y Which type of triengle is AQRS?

A. isosceles B, right

C. acule D. obtuse

3. A right wiengle contains 1 38° angle whose
adjacent side measures 10 centimeters. What
is the fenpth of the hypotenuse, to the rearesr
hundredth of a centimeter?

A 788 B. 1269 C 1280 D. 1624

4,

3.

Date:

In the diagram below, ALMO is isosceles with
LO = MO,

. M N

5&°

28°

O
If mLL =35 and mZ NOM = 28, what is m/ N?

A 7 B. 28 C. 42 D 7

The two acute angles in ap isosceles right triangle
st measyre
A. 307 and 60° B. 35° and 55°

C. 40° and 50° D. 45° and 45°



Tina wants to sew a piece of fabric into a scarf in
the shape of an irosceles triangle, as shown in the
accoropanying diagram. What are the values of x
and »?

A x=42andy=98 B. x=69 and y =69

C. x=9 and y=48 D. x=056and y=42

In the diagram below, AABC = AXYZ.
B X

A

Which two staternents identify corresponding
congruent pacss for these triangles?

=¥V and LC=LY

2

VZand 202X

11§

¥P and LARLY

° 0 B
g & & 8§

% VZ and ZAm X

10.

i

In the accompanying diagram of AABC, BC is
extended w0 D, mLA =20, mLACD = 70, and
nil =x

What is the value of x7

A 110 B. %0 D,

C. 76 D 50 , o

@0° &

In the accompanying diagram of AABC, side
AR is extended to D. If mZACE = x+ 30,
mLCAB = 2x + 10, and m< CED = 4x + 30, what

is the valoe of x?

Two angles of a triangle measuee 65° and 75°,
Which is nor the measure of an exterior angle of
the trigngle?

A, W05° B, 15° C130° D M0°

The lengths of the sides of a trianple are 8, 15,
and 17, If the longest side of a sunilar triangle
is 51, what is the length of the shortesr side?

A 32 B. 24 C 15 D. 4
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13. In the accompanying diagramn, BAE, CAD, /B
end £ F ave right angles, AB= 3, BC =4, and
AD =15,

What is the lenpth of DE?

A 5 B. 8

C. % D 12

13. The sides of AABRC ate 2, 3, und 4. Which set
of numbers could represent the sides of a triangle
similar o AABC?

A {567} B. {6,9,16}

C. {12,13,14} D, {20,30,40}

14. If a tree cast a 90-foor shadow a1 the same time a
3-foot pole held perpendicular to the ground casts
a 5-foot shadow, what is the beight of the tree,
expressed in feet?

A 18 B. 54 C. 7 D. 150

15, Jordan and Missy are standing together i the
schoolyard. Jordan, who is 6 feet tall, casts a
shadow that is 54 inches long. Ar the same time,
Missy casls a shadow that is 45 inches long, How
tall is Missy?

A 38 B. 86.4in

C. 5# D, 5fi6in

16. Parallelogram ABCD was translated to
parallelogram A'B'C'D,

r

& B : A B

0

How many unifs and in which direction were the
xcoordinates of parallelogram ABCD moved?

A. 3 units to the right B. 3 units to the left

C. 7 units to the right D. 7 units to the left

Wieal Exam Review, Unit 1



I7. Ruaby is making a calendar, 18. A shape iz shown helow,

March

Which shows a slide of the word “March” over
the lins?

Wiich shows this shape transformed by a flip?
A,

March

March

—
T
| yose ) f
| rlo1sM
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19. Joanne and Christopher are designing a quilt. They start by creating a triangle shape in the lower left quadrant as
shown below.

A
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o o

4
|

i
e

J:I!-L}\J

They transforn it by rotating the triangle shown above 90° clockwise about the origin, What does the new design
look like? :
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20.

Alyssa made the design showr below.

%

‘f
Which transformation could be used o show that
figure A is congruenl to figore BY?

add 5 1o each x-coordinate

multiply each y-coordinete by -]

multiply each x-coordinate by —1

U on ow

rotate the figure 90 degrees about the origin

Finnl Exmg Review, Unit 1



21. Which graph shows a reflection of the rectangle across the hovizontal dotted line?

4V
* < xr
v
A. 4¥
A
4
C. Yy
c

¥

4y

-

L 2
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22. Polygon A will be rotated covnter-clockwise 90° about point P to form polygon A'.

}

A~

'

[

by

‘

y

he ]
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23. Which of the following s a single reflection of figwe ¥ over the y-axis to form N'¢

A,

Y
F 3
7
% >
y
Fy
ra s
* »
ALr S
b
L

E.

JJ
»
AL

- > X
V
¥y
4

f
» X
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24. Which figure shows the tisngle below reflected over the x-axis, then refiscted over the y-axis?

i 4

F 3

&

I
»

-

4

'y

B
>

P
-

F 3
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25. Figure EFGH in the coordinate plane has vertices

at ("‘51 2)1 (""Ss "z)v ("'13 ""2}7 and (""l’ 2)-

4 y

LL!
..
=5

v

F S

I the figure is translated § units to the right

and 2 vaits ep, what are the coordinates of the

EFGHT

A (0,4), (0,0), (4,0) (4,4

B. (3,7 (-3,3), 1.3}, (1,7)

C. (—10,0): (_}.0;4)) ("'6; ’_'4)' (_6’ 0}
D. ('_7’ "'3)| {""7! “7)1 {""3: "7>! (""3s _3)

26. A polygon has been rotated about the ovigin,
Which statesnent must be true?

A. The lengths of the sides are doubled.

B. The area of the polygon did not change.

C. The coordinates of the vertices did not
change,

D. The area of the polygon iz 4 Times its
original ares.

27. Three transformations will be performed on
tisngle ABC, Which set of transformations will
always produce & congruent triangle?

A. dilation, rotation, translation

B. reflection, dilation, translation
C. rotation, reflection, dilation
D

rotetion, fransfation, refiection

28. K triangle ABC is rolated 180 degiees sbout the
origin, what are the coordinates of A7

¥
»
7
. 8_| |A
3 .
o L LA
1
R G
T B e 4TEETor 7 23 4 56 771%
-1
3
. |
7
L 2
A (=5,-D B. (-5,4)
C. (—4,5) D (—4,-5)
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29,

The diagram below shows AML and its image
AH'P after a single transformation,

y
F 3
&
7 P H
‘q.\ 3 //
2z
Lt LT | g P,
L 1, X
~6—5—4-3—2—-]? 12343568
-2
-3
ot}
1

Which of ¢the following describes the
transformation?

A, reflection over the x-axis

=

reflection over the y-axis
C. rotation 90" clockwise abent the origin

D. rotation 180° clockwise about the crigin

Final Exan Review, Usit 1



30. Look at ALMN on the coordinate plane,

¥
ol
=

1
4
L
o
1
dd - =
W
w
£

Which coordinate plane shows A LMN after a 90° counterclockwise rotation about the origin?

A. y B. 14
h ! &
4 4
2 2
1 1
LR NEEELE 1:5;“'
-] ~H-
2|
3| - 3
’ N g
-sl 0 2 A
iy i i
¢ 4 D. y
o 5"‘
4 4
w 2
2 2
bt 3
i 1 3 "E‘;x :"t-"'l‘:-? 1¢1‘5":x
1 ]
"\""5
5
i
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3L A triangle is shown. 32, A trianguiar tile is shown.

360 ijo
12 cm

Patrick needs another tile that is congruent to this
tile for the design on his kKichen wall,

v

Which triangle is congruent to this triangle?
Which tile is congruent o the original tile?

A,
A,

12 cm

3ée

12 cm

12 cm

P
N

103°
ol C.
36°N\_12 cm
D, 36°
| D.
“ 2 om
103¢ 349

JH[ Final Exam Revicw, Unit 1



33, Use the figure below to answer the following
gaestion,

A

B C

In this figure, [} and E are midpoints of the
sides of iiangle ABC. The perimeter of triangle
"ADE 15 18 centimeters. What is the perimeter of
triangle ABC?

A. 27 centimelers B, 36 centimeters

C. 54 centhmeters D, 72 centimeters

34, A flagpole casts a shadow 27 feet long. Larry is
6 feet tall and casts a 5-foot shadow.

.
-~

‘
.‘.
\\
6t .
‘
,
: | .

55—
f 27 i

Note: The figure is not drawn to scale,

How tall i the Hagpole? Round the answer to the

nearest foot.
A, 18 feet B. 25 feet
C. 28 feet D. 32 feet

35. In AABC, Z is the midpoint of AT and ¥ is the
midpoiat of BE.

B

/Z
A
If ¥YZ =121 and AB = {2x — 4), what is x?
46

A 125 B. 125 C 23 D.

36. Trangle ABC and triangle CBD ave similar. Find
the measure of ZA

Final Hxam Review, Unil 1



Name:

Hinal Exam Review, Unit 2

A ball is thrown straight up ar an initial velocity
of 54 feet per second. The height of the ball

¢ seconds after it is thrown is given by the formula
h(#) = 54; — 12*, How many seconds after the ball
is thrown will it retarn w0 the ground?

A 92 B. 6 C 45 D. 4

The height of a swimmer's dive off a I0-foot
platform into a diviag pool is modeled by the
equation y = 2x% — 12x + 10, whete x represents
the number of seconds since the swimmer left the
diving board and y represents the number of feet
above or below the water's surface, What i3 the
farthest depth below the water's surface that the
swimmer will reach?

A, 6 feet B. 8 feet

C. 10 feat - D. 12 feet

What iz the solution set of the equation
2310 =07

A (5,-2) B. (-5,-2}

C. (5,2) D (-5,2)

What is the solution set of ¥2 —x — 20 = 0?

A (5,4} B. ({-5,4}

C. {~10,2) D. {10,~2)

10,

Date:

What is the solutions set of the equaticn
2 4 x -3 == (7

A {h-3)

C. {-4-3)

B. {-4.1}
D. {31}

x=-5
5

4
Solve for the positive value of ¥1 = =
x+3

For which equation is the solution set {-—-5,2}?

Ao P+3x-0=0 B 2-%3=10

C x+3xm-=I0 D. 2-3+10=0

Which must be true for x in the equation
1 1

% .\:+322?
A x=0,x==3 B. x#£0,x=-3
C x=0x3#=3 D. x#0, x# =3

What is the golution set of the eguation

X x
oo 147

5 * 3 147

Ao (4] B. {10} €. {20) D. {49}
What is the value of x in (he equation % + % =127
A 12 B. 8 c 3 D 3



[l. What is the solution set of the equation

12, \éthich value of x is the solution of

I Ak

x-4 X+3 Rox-I2 50315

A [} {4, —6) A 3 B. & C. 3 D. 7

C. (-6} {4

13, Which valve of x is the solution of ?::Hj = % ?
1 i
A. —i B. i C -4 D 4

14. Which of the following represents the graph of the equation below?

ymit-4

A B. ¥

Il

Final Exam Review, Unit 2



15. Which of the following represents the graph of the equation below?

y=—xt+2

-
>

e g
-..*‘

—

’i

6. An object that is projected straight downward 17. How many times does the graph of y = 2x% —2x+3
with initial velocity v fest per second travels a intersect the x-axis?
distance » = vt + 168, where ¢ = time in seconds.
If Ramén is standing on a balcony 84 feet above
the ground and throws & penny straight down with A, mone B, one G two D three
an initial velocity of 10 fee! per second, in how
many seconds will it reach the ground?

A. 2 seconds B. 3 seconds

C. 6 seconds D. § seconds

[g Final Exam Review, Unil 2



18. For her research project, Sherry asked some high
school and college students their age, x, and the
average number of bours they worked per week, y.
Her data are shown.

Alan 10 10
Jose i8 15
Erica 16 3
Tina I7 8
Pamela 17 12
Jin 20 14
Danitza 13 14
Hugo Y 1
Tionna 22
Myron 22

Sherry used 2 calculator to find a guadratic
regression equation to model the data, rounding
the coefficients to the nearest thousandth.

What is the average nueber of hours per week a
23-year-old would work {rounded to nearest whole
nirnber)?

A. 4 hours B. 3 hours

C. 7 bours D. 8 hours

13. What are the solutions of the equation below?

Sx(x+8) =0

A x=-5 x=~8 B, x=0; x=-8

C. x=0; x=8 D x=5 x=1%

20.  Pedro throws a ball upward at a rate of 20 meters
per second from an initial height of 2 meters.
The height of the ball sbove the grouad can be
appraximated by 2 = —52 + 20t + 2, where ¢
represents the amount of time, in seconds, since
the ball has been released.

What is the maximum height that the ball reaches?

A, 5 meters B. & meters

C. 20 meters . 22 maters

21, ‘Whar is the sum of the sofutions to the equation
shown below?

#-12=4

A -4 B. 0 C 4 D. 12

22, The graph of a quadratic Tunction is shown below.

e

b A L

U QIO Ui

i

%‘ do e Bl b v 6 degd o 3o b
]

et
),

Which set includes the zeros of this function?

A {2,4) B. {-2,4}

. (42} D. {-4,-2}

iq Final Tixam Review, Unit 2



23, M x* = Gx = 16 is writen in the form a(x — B)* + £,
what is the value of a + A + 47

A -27 B, -2l C 1 D. 29

24. A ball is tossed info the ajr. The height of the
ball as a function of time can be described by the
equation 4 = —16/2 + 72+, In this equation & is the
height of the ball in feet and ¢ iz time in seconds.

After how many seconds will the ball hit the
ground?

A, 4 seconds B. 4.5 seconds

C. 9 seconds . 56 seconds

25, Which of the following statements best describes
the sofution(s) of 1+ x =37
A. no sclution
B. 1 negative solution
C. 1 positive solution and 1 negative solugion
D

2 positive solutions

26. A company found that its monthly profit, P, is
given by P = ~10x% + 120x — 150 where x is the
selling price for each unit of product. Which of
the following is the besr estimate of the maximum
price that the company can charge without losing

money?
A, $30024 B. $210.00
C. $10.38 D. $5.00

27. Suppose that the equation
V = 20.8¢* ~ 458.3x + 3,500 represents
the value of a car from 1964 to 2002.

What year did the car have the least vale? {x=10
in 1964}

A 1965 B, 1970 C 1975 D, 1980

Final Exmm Review, Unlt 2
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Final Exam Review, Unit 3

Nains:

3

L. The value of ()77 is

AL B. -§ € -4 D 4

-l
3. The value of (—m«) is

A -8 B 9 C. -} D}

4, I x i3 a positive integer, 4xh is equivalent to

A B. 2x C 4 D 4

2
X
5. The expression ¥ 16a5b? is equivalent to

A 2% B. 2ip C 46*% D. 4a

6. When simplified, the expression (W) (m'!

equivalent to
A w2 B. md

. Ymt D.

ip

Dinte:

7. The expression x4 s equivalent to

A “¥F B e o L b L
Vs Yt

8. Which is the equation of the graph below?

y=log,x
y=—logx

y=2

v 0w »

y=27

9.  Which equation is represented by the graph in the

accompanying disgram?

A y=logx ¥
8

— T

B. y=logex 8
5

C. y=2 4
3

D y=10¥ ?

i2840878 %

10. The graph of the equation y = 1 lies entirely in

Quadrants
A, Tand II B. II and III
C. TandIV D, IIIand IV



1L

12,

13.

14,

13,

The accompanying graph represents the valae of a
bond over time. Which type of function does this
graph best modet?

Valus of Bond

o
g
>

Time
A, wigonomeliic B. logarithmic
C. quadratic D. exponential

The solution set of 287! = § is

A {} B. {2) C. {3} D. (4}

What is the value of x in the equation 32 = 17

A1 B. 3 C. 3 D. 0

What is the value of x in the equation
81x+2 = 27.5x+4?

What is the value of b in the equation
423 o gi—be

=

~ M
o
=

A - B. 1 C.

| Ly

16. The value of x in the equation 45 = 83 jg

A1 B2 C 5 D. -10

17. What is the value of x in the equafion
93.\:+l = 27x+2?

1 1
Al B. } c 3 D.

Lk

I8 The equation y = a* expressed in logarithmic form
is

A, y=log,x B. a=log,y

C. x=log,y D, x=loga -

19.  Which equation is equivalent to y = 3% ?

A logd=x B. log,x=3

C. logga=y D Jogzy=x

20. The growth of bacteria in a dish is modeled by

the function f{r} = 2%, For which value of tis
J@) = 327

A B B. 2 C. 15 D 16

Fiasl Bxum Review, Unit 3



21,

22,

23,

24,

Kathy deposits $25 into an investment account
with an annual rate of 5%, compounded annually.
The amownt in her account can be deteymined by
the formula A4 = P{1 4+ RY, where P is the amount
deposited, R is the annual interest rats, and ¢ is
the number of years the money s iovested. If
she makes no other deposits or withdrawals, how
much money will be in her account at the end of
15 years?

A B25.75 B, $4375

C. 85197 D. $393.97

Mz, Smith invested $2,500 in a savings account
that emns 3% interest compounded anoually.

He made no additional deposits or withdrawals.
Which expression can be wsed to determine the
sumber of dollars in this account at the end of

4 years?

A, 250001 +0.0%% B, 250001 +0.3%

C. 2500(1 +0.04)° D. 25001 + 0.4)

Is the eguation A = 21000(t — Q.12) a model of
exponential growth or exponential decay, and what
is the rate {percent) of change per time period?

A. exponential growth and 12%

B. exponential growth and 88%

C. exponential decay and 12%
L

exponential decay und 88%

The current populaton of a town is 10,000, If the
population, P, increases by 20% each yeay, which
equation could be nsed o find the population after
t years?

A P = 10,000002¥ B. P =10,000(0.8Y

C. P=10,000¢{L.2) D. P=10,00001.8)

25,

26,

27

28,

28,

30.

9%

Find t_he soiution set of the real numbers for the
radical eguation vZx + 1 = 1 + /.

A {0 B. (0,~4) C. (0,4}

D. none of these

Bxpress 79 - V'] in simple form,

A V158 B. V128 c. 9

. none of these

Solve: ¥x2+2=3

A 23 B 27 C &l D. %5

The ouwmber of real solutions of the equation
VIx+3=x i

AT

The solution set of v2i+ 1 =1 is:

A {0,-1}) B. {0}
C. { ) (the empty sety D. none of these

Simplify: (@x—2y%~?

%6

12
B, 9%y T

A, ZTxy

D. none of these

Finai Exam Review, Unit 3



4-.1:3):"‘3
31, Simplify:
A A
A B. Zx~y~
2y3 Y
2.3’4
C. -—y— D. none of these

3y 2
32, Simplify: (1{5)
-
A 25y 3 25x5

D. none of these

ol 2 3
33, Simplify: (—:;—) (%)

4xty? 250xy*
A T
C. E%ty-‘; D. none of these

3 S g

34, Simplify: (~4a%y -2y

2.1’-13 '—2)’13 __2x13
y 18 ' 13 ' y [}

D, none of these

35, Simplify: @0 i@ey-T)=

Xy 12 y1 9y
A = B = C = , —
12 xy 18x* b 2yi2
~332,04% 7%
36, (E‘# is equivalent to which of the
following?
2
A a bt B 2
4]
C. abet p, @
2

Fiul ¥am Review, Unit 3



Finaj Exam Review, Unit 4

Nafne: Datet

1. Which of the following functions of x has the appavent range of {y:y = 0}?

o

A y B.

AN

2 X

A&




A rectangle has a width of 4 — x units and a
length of x units, The area of the rectangle is -
represented by ths function A(x) = —x? -+ 4x, whose
graph is shown.

R S

i
;o]
P

;4;_ - fig SR
l M v

What is the domain of A(x) in this situation?

A All real numbers B, -8<x<d

C. Dgx<4 D, 0<x<4

3. Look at the function that is graphed helow,

¥
k

Ry 4a e B B

4
o

i
2
y -9
+n
L-2]
¥
]

_____ 4

w o L

T ]
L= - -

r

.

What is the range of this function?

A —4<y<s B. ~3<y<3
C. -2<yg3 D, d4gyg~1
4 ¥y
A
10
9
8
7
6
3 \
2 \Y
1

- X
0 12345678910

What is the domain of this function?

A 0€xgS B. 05xg8

C. 0<yg1 D, 0<y<6

Floal Exam Review, Unit 4
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5. Look at the function that is graphed below. 6. The vertex of the quadratic function shown on the
grid below is at (D, ~4).

¥
H H P ,}’ :
i ! » X
FAl g
o 5 ‘l EI f[
3 /
] / _ i ’ﬁI /
h NV s
i 0 3| _; * \ ﬂ /
= ; - y ]
\ X /
Which of these describes the range of this i _J*\_ o AT T
function? . \“ ] ¥ .
N
A y20 B. 0<y<5 4
C. &l real npombers D. all whole numbers ﬂ

-.81
It the graph of this function is wanslated 2 units

down, which of the following best describes the
range of the resalting graph?

All numbers greater than or egual to —6
All numbers less than or equal to -6

AN oumbers greater than or equal 10 ~2

© 0w op

Al real nnmbers

7 ?_ Final Exam Review, Unit 4



7. Which of the following graphs does nof represent a function of x?

A ¥ ' B. N
J'l‘
Pt ”I
Ky . A
/i A . »
y4 \ M e
3 i 3
‘I- \ 1
- — K3 Lil "X :.1.4.... o’ & X
T y - !
! a ) :
] ] i
{ S, ! -
! 1 N
1] > \ __;
b
C y D, y
] )
, \ f I
) 1 ) I
@ % [
M Ki X [
N [ AL 1
. - TV
Al !
FEFEEE T'_’(u X EE T A ? X
> _ :
g s b
3 ;
i 9

Finsl Exam Review, Unit 4
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8 Laok at this graph of a functon. (y is & fencticn
of x.}

What is the domain of the function?

all real numbers
all real numbers except —4

all real nombers greater than or equal ¢o 0

oSN ow o

all real numbers greater than or equal & —4

9. The graph of a function is shown below.

y
4

g3

)

i
<,

A
L 2
-

2. vam]

A 4

Which value is sor in the range of the function?

A 0 B. 3 C 4 D5

1C.

11.

12.

13

A function is graphed below.
¥

2

5
[ B

What is the domain of this function?

A ~3<y<d B. d<gys4d

C. -35x%3 D. 4<x<4

Which of the following expressions is equivalent
to (Bxyy*? :

A, B. 6xy?

D. 6y

12352
C. 36y

Which of the following is equivalent to the
expression below?

(m + 1)(m + 3}

A. 2m+6 B. m+5

C. m+5m+6 B. rl+6m+5

What is the inverse of the function y = 2x+ 37

B. y= &x-—%
D.

H
—

A x y—%
C. -3

I
vt

¥y x=w2y~3

Fimal Exam Review, Unit 4



14, In the diagram at the right, J{x) 15. What is the igverse relstion of the function whose
the fanction f{x) = 3 is equation is y = 3¢ =27
represented graphically.
Which graph below
represents the inverse x A y=x B. y=%+2
of fi(x) 7
C. y=2«x-3 D ym= i—%ﬁ
A Sz
A
-,
\_\"ﬁx
B. Jle)
f
¢ i &
C S
&
T 16, Which equation is represented by the secompanying
AT = graph? '
. ¥
A .
D. Jx) v
F 1__ ( 3r1 )
— —
—
y
A y=1xi-3 B. y={x=3?%+1
C. y=|x+3-1 D. y=|x-3{+1

Fina! Exam Review, Unit 4
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17. The graph of y = |x + 2| is shown below.

]
=

Which graph represents y = = |x +2|?

A y B, y

L)
v
s

.. i T
S | a )

¥
>

. I
L

Final Bxam Roview, Unit 4
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18,

19,

A y=xt—4

Which is an equation of the graph shown in the
diagram?

B, y=-2*+4
C. x=y* =4

D ox=-—*44

Which equation represents the parabola shown. in
the accompanying graph?

~

A FO=0C+1E-3
B. FO=—-x-32+1
C. fxy=~{x+3F+1

D flo=—(x—3¢-3

A,

I U R 7
% R Gl N

20. Which of the following represeats a graph y = i?

Final Exam Review, Unb 4



Final Exam Review, Unit 5

Name:

1. What is the amplitude of the graph of the equation
y=2sin{x?

A% B. 2 C =z D.

2. What ig the amplitude of the graph of the equation
y=2co53x?

A

wliy
=
[ %]
o
w
vl

6

3. What is the amplituds of the graph whose equation
is y=—4sin2x?

A = B, 2 C.

4,  Which is the graph of the equation y = ~sinx?

A
c. ¥ D ¥
i 1
Z &
-1 n 2 -1 T 2n

Date:

Which is an equation of the graph shown below?

A y=sin2x ¥

B. y=2cosx ?%ﬂ 2:;1- .
C. y=oos2x :;1; ./ *
B y=2sinx

Which equation is represented on the accompanying
geaph?

Y ;
-
3 =
2 A
ARV
- . > K.
APl AL LB
al\: 1/ {
B> ?—
r
|
A, y=1Jsinx B, y=-3sinx
C. y=3cosx D, y=-§in3x

In right wiangle ABC, m£ C = 90, mZA = 55, and
CA = 10. What is the length of AB to the nearest
integer?

A6 B. 14 c. 17 D. 24



8.

In the accompanying diagram of right triangle
RUN, m£ U7 =90, méN =37, and RN =21,

R

21

37
U'“] N

What is the length of RU, expressed to the nearest
tenth?

A 126 B, 158 C 168 D 3490

In the right triangle shown in the diagram below,
what is the value of x t0 the nearest whole
tuember?

X

300 []

24

28

i, A tree casts a 25-foot shadow on a sunny day, as
shown in the diagram below,

251t ‘;!

If the angle of elevation from the tip of the
shadow o the top of the wee is 32° what is the
height of the tree to the nearest tenth of a foot?

A 132 B, Is6  C 212 D. 400

H. In right triangle ABC shown below, AB = 18.3 and
BC =112

C

1.2

{_
A 183 B

What is the measure of /A, to the nearest fenih
of a degree?

A 313 B. w7 C 523 D 585

2. fa=4,b=6, and sind =% in AABC, then sinB
equals

A

Bl
=
Zfer
0
=13
o
she

Final! Exam Review, Unit 5
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15,

16.

17.

In trjangle ABC, sind = (.3, sinB = 04, and
a=12. Hind 5. .

In AABC, mZA =75, mLB = 40, and b = 35
What is the measure of side ¢ 7

35sin40° 35sin75°
§in 65° sin40°

33sin40° 355in65°
§in75° sin 40"

In AABC, a=4, b=3, and cosC'= —;. What is
the Jength of ¢?

A7 B. vII ¢ T D VI§

In tiangle ABC, a=35, b=7, and ¢ = & The
‘meastre of 2B is

A 30° B 6° C 120° D 150°

In a triangle, the sides measuce 3, 5, and 7. What
is the measure, in degrees, of the largest angle?

A 6D B. %0 C. 120 D, 130

18. The area of AABC is 100 square centimeters. If
¢ =20 centimeters and mZA = 30, then & is equal

]
A 20cm B. 500cm
C. 20¥3cm D, 10v3em

15, In AABC, m&C =130 and a = 8. If the area of
the (riangle is 12, what is the lengih of side b?

A6 B. 8 cC. 3 D, 4

20, Given AABC, AB =6, AC =29, find BC.

A 45 B. 35 ¢

C. 5v3 D 17

Final Exam Review, Ualt §
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Unit ¢ Final Review

A bag contains 2 red marbles and 3 blne marbles.

If one marble is drawn at rapdom:, what.is the
probability that it is red?

1 2
A} B!

If a letter is chosen at random from the word
“BASEBALL” what i5 the probability that the
letter chosen is not an L7

o=
E
lwa]
soma
ol
LN
v’
eind

The probability of throwing two fours on & single
tosy of a pair of dice is

A £ B § C.

If two coins are tossed, the probability of getting
two tails is

A 3 B.

s
M
Bl
)
LB

What is the value of 5P 7

Al B 35 C. 24 D. 120

The value of oC is

A 15 B. 54 C. & D. 504

2

10,

11.

Date:

John has 6 pairs of pants und 3 shirts. How many
possible outfits consisting of ons shirt and one
pair of pants can he select?

A9 B, 2 C. 12 D 18

i Debbis has 3 blouses and 4 skirts, how nany
different cutfits of a blouse and skirt can she wear?

A 12 B. 7 cC. 3 D 4

A cafeteria offers a choice of fve sandwiches,
three salads, and three beverages. How many
different meals can be chosen if sach meal congists
of one sandwick, one salad, and one beverage?

A1 B. 3§ C 1 D. 45

How many different 6-leiter arrangements can be
formed using the letters in the word “ABSENT,”
if each letler is used only once?

A & B. 36

C. 120 D. 46,656

Which expression represents the number of
differenst 8-fetter arrangements that can be made
from the letters of the word “SAVANNAH" if
each letter i3 used only once?

& 8!

A 37l



13,

13.

14,

15.

16.

17,

How many different two-letter arrangements can be
formed using the letters in the word “BROWN"'?

A 10 B. 12 C. 20 D. 25

How many different four-letter arrangements are
possible with the letters G, 4, B, D, E, N if each
lztter may be used only once?

A 15 B. €. 360 D. 720

How many different three-member teams can be
formed from six students?

A 20 B. 120 C 26 B, 720

The principal would like to assemble a committee
of 8 stndents from the 15-member student council,
How many different commiltees can be chosen?

A 120 B. 6435

C. 32,432,400 D. 250,459,200

There are 18 students in a class. Bach day, the

eacher zandomly selects three students to assist in
a game: 2 leader, a recorder, and a Smekeeper. In
how many possible ways can the jobs be assigned?

A 306 B. 816 C. 4896 D. 3832

If ewo fair dice sre togsed once, the probability of
gelting 12 is . What is the probability of not
getting 122

A 2 B.

&l

]l

18. The spinner below is divided into eight equal
reglons and is spun once, 'What is the probahbility
of not getting red?

19. A single ¢ard js drawn from a standard deck of
52 cards. What is the probability the card is a
five or a dismond?

A ¥ B g D. 4

20. An wrn contains five red marbles, four green
matbles, and three blue marbles, I one marble is
drawn at random, what is the probability that it is

either a green marble or a blue marble?

C. D,

4
T

$3la

21.  Ap urn contains three red marbles and four blue
marbles. One marbls is selected at random, its
color is noted, and it is retirned to the om.
Another marble is then selected. What is the
probability the second marble drawn is red?
A} B. } D. }

c 3

Unit 6 Final Review



22,

23

25,

If two cards are drawn from a standard deck
of 52 cards without replacement, what is the
probability that both cards nre fives?

2z 4 3
A5 B, =5
1 1 5 4
C 33 Doms

A bag of rparbles contains thres blue, one black,
and four yellow marbles. If two marbles are
choseén at random without replacement, what is the
probability that both marbles will be yellow?

A 3

B. % C. 3 D. %

An urn contains four red marbles and five blue
marbles. What is the probability of selecting at
random, without replacement, rwo blue marbles?

A g B E C D

=4
oY

A pumbal]l machine contains six yellow gumballs
end five orange gumballs, What is the probabilily
of obtaining, at randotn and without replacement,
two vellow gumballs?

A ¥ B # c F D &

3%

20

7.

28.

Keisha is playing a game using a wheel divided
into eight equal sectors, as shown in the diagram
below, Each time the spinner lands on orange, she
will win a prize,

If Keisha sping this wheel twice, what is tha
probability she will win a prize on both spins?

1 ] L }
A & B & ¢ L b}

A newspaper potl was taken 1o detcrmine the
probable winoer in an clection for mayor. The
probability thac Andrews will win is 0.4, while the
probability that Egan will win is 0.3, What is the
probability that either Andrews or Egan will win?

A, 07 B. 012 € 03 D. 04

When a number i3 chosen at random from the
set (1,2,3,4,5,6), which event has the greatest
probability of occurring?

A, choosing an sven puimber

B. choosing a prime number

C. choosing a number greater than 3

D. nor choosing either Lor6

Unit 6 Fival Review



29.

The probability that a red block is selected from a
bucket is §, and the probability that a biue block
is selected is % ‘What is the probahility that & red
block or a blue black is selected?

A1 B. C. 3 p. §

L e

39

30. The party registration of ths votess in Jonesville is
shown in the table.

Registared Voters
in Jonesville

Party Registration | Number of Voters
Regisiered

Democrat 6,000
Republican 5,300
Independent 3,700

If one of the registered Jonesvitle voters is selected
at random, what is the probability that the person
selected is not 8 Democrat?

A, 0333 B, 0400 C. 0600 D. 0.667
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